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43521 Uplink compressed mode

For uplink compressed mode, the slot format is changed so that no TFCI bits are lost. The different slot formatsin
compressed mode do not match the exact number of TFCI bits for al possible TGLs. Repetition of the TFCI bitsis
therefore used.

Denote the number of bits available in the TFCI fields of one compressed radio frame by D and the number of bitsin
the TFCI field in aglot by Nqrrc. Benete-by-Ethefirst-bitto-berepeated;

E=Ni,«Nreci-, if the start of the transmission gap is allocated to the current frame.
E=0, if the start of the gap is allocated to the previous frame and the end of the transmission gap is allocated to the
current frame.

-If the transmission gap does not exceed the frame boundary and N, 14, then E corresponds to the number of the
first TFCI bit in the slot directly after the FGtransmission gap. The following relations then define the mapping.

Ok = By mod 32
wherek=0, 1, 2, ..., min (31, D-1).

If D > 32, the remaining positions are filled by repetition (in reversed order):

Ob-k-1 = Dk mod 32

wherek =0, ..., D-33.

4.35.2.2 Downlink compressed mode

For downlink compressed mode, the slot format is changed so that no TFCI bits are lost. The different ot formatsin
compressed mode do not match the exact number of TFCI bits for all possible TGLs. DTX istherefore used if the
number of TFCI fields exceeds the number of TFCI bits. The block of fields, where DTX is used, starts on the first
field after the gap. If there are fewer TFCI fields after the gap than DTX bits, the last fields before of the gap are also
filled with DTX.

Denote the number of bits available in the TFCI fields of one compressed radio frame by D and the number of bitsin
the TFCI field in aslot by Nrec). Beneteby-E-thefirst-bit-to-berepested:

E = Nsir«Ntec), if NismFGE-£-15,-elsethe start of the transmission gap is allocated to the current frame.
E = 0, if the start of the transmission gap is alocated to the previous frame and the end of the transmission gap is
alocated to the current frame.

If the transmission gap does not exceed tend to-the-end-of-the frame boundary and N ¢! 14, then E corresponds to the
number of the first TFCI bit in the dlot directly after the FGtransmission gap. Denote the total number of TFCI bits to
be transmitted by N If SF3 128 then Ny = 32, else Ny = 128. The following relations then define the mapping:

Ok = B mod 32)

wherek=0, 1, 2, ..., min (E, Ny)-1 and, if E< N,

Ok+p-Ntot = Bk mod 32)
wherek = E, ..., Nyt -1.

DTX bits are sent on d where k = min (E, Neo), ..., min (E, Niot) +D - Neot -1.
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